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ENGRAVING INFORMATION

N1 O1 *SAMPLE ENGRAVING PROGRAM

N2 M6 T3  (TOOL CHANGE,TOOL NUMBER)

N3 (TOOL #3 ENGRAVING TOOL .015 DIA

N4 G0 G90 S10000 M3 E1 X.375 Y.617

G0=RAPID,G90=ABSOLUTE, SPEED,M3=CW SPINDLE, E1=ENGRAVING ON

X=LOCATION OF FIRST LETTER

Y= LOCATION OF FIRST LETTER  MINUS ½ TOOL DIAMETER

N5 H3 D3   Z.1

H= TOOL LENGTH OF #3, D= #3 TOOL,   

Z =.1  FIRST MOVE FOR TOOL #3

N6 L9201 R0, R1, R2, R3, Z-? F20.0

 L9201= ENGRAVING  CANNED CYCLE

Z= ½ DIAM. OF BALL END MILL

F= FEED IN INCHES PER MINUTE

R0=CLEARANCE ABOVE PART FOR MOVING 

R1=MODE OF LETTERS (SHAPE OF LETTERS)

R2=TOTAL HEIGHT OF CHARACTER

R3=POSSIBLE ANGLE OF LETTERS

R4= ONLY FOR SERALIZATION OF ENGRAVING

N7 M5  (SPINDLE OFF,

N8 G90 G0 H0 Z0 

G90= ABSOLUTE, G0=RAPID, H0=CANCEL T.L.O. Z0= HOME

N9 E0 X0 Y0

E0= ENGRAVING OFF X0= HOME  Y0= HOME

N10 M2   M2= END OF PROGRAM
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CALCULATING WORD LENGTH

STEP 1: ESTABLISH A DESIRED HEIGHT OF THE LETTERS

STEP 2: CHOOSE THE DIAMETER OF TOOL


FORMULAR=  .14 TIMES THE HEIGHT

STEP 3: CALCULATE THE LENGTH FACTOR USING 

THE CHART ADDING ALL THE WIDTH FACTORS TOGETHER

STEP 4: THE ACTUAL LENGTH IS

(HEIGHT MINUS TOOL DIAM.)TMES (TOTAL LENGTH FACTOR) 

LENGTH = (H-D)x( LF)


WIDTH OF CHARACTER BOX


WIDTH =(HEIGHT-DIAMETER)x(WIDTH FACTOR)

Wd = (H-D)x(WF)

START AND END FACTORS

SPACE = (HEIGHT-DIAMETER)x (SPACE FACTOR)

Sp =(H-D)x(SF)

Example:

Step 1:  Select .5”

Step 2: .125” endmill

Step 3:  Count letters (max 8).  Add the width factor for each letter from table and get total (‘Actual Length’).

Step 4:  Multiply Actual Length by (.5 – .125 = .375) This is the total width of the name.

Subtract this value from length of the PART.  Divide by two.   This is the X Factor in the program.

(Width of part - .5) and divide by two, then add .5  This is the Y Factor for the program (negative in our case).

[image: image1.jpg]Letter Width Factor Table

The letter length is based on the box space for each letter. The Start and End factors are used to
calculate the distance from the edge of the letter box to the start and end points of the letter

Character Width Start End
A 1.0506 .2279 .2219
B .9455 .2279 .1284
G .9471 .1837 .2677
D .9441 .2279 .1927
B .8853 .2279 .2280
F .9118 .2279 .2294
G .9588 .2153 .2282
H .9706 .2219 .2353
| .4559 .2279 .2280
J .95 2219 .2280
K 1.0249 .2279 .2218
15 .8941 2279 .2280
M 1.0824 .2279 .2280
N .9573 .2219 .2279
0 .9647 1779 1779
P .9485 .22719 .2279
Q .9647 1779 1779
R .9749 .2279 .2218
S .9853 .2219 .2280
T .9485 +2219 .2219
u 1.0000 .2279 .2280
v 1.0147 .2279 .2280
w 1.2059 .2219 .2219
X .9559 2218 .2280
Y 1.0441 .2219 .2280
Z 9441 .22719 .2280
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The letter length is based on the box space for each letter. The Start and End factors are used to
calculate the distance from the edge of the letter box to the start and end points of the letter

Character Width Start I End
\ .9559 | .2219 .2280
! [ 7353 [ 3676 3677
# 1.0441 | .1926 | .1927
$ .9559 .2276 | .2280
% 8676 2279 .2280
: .7353 3676 3677
& 9853 .2345 .1453
( 5855 .2279 2279
) 5855 .2279 2279
S 9559 .2278 | .2280
T 1.1029 .2279 .2280
: 7353 .2941 .2960
- : 1.1029 .2279 .2280
;s 7353 .3676 3677
/ .9559 2219 .2280
0 9647 1779 1779
1 6059 .2279 .2280
2 .8926 .2279 2211
3 9632 .2279 .2281
4 1.0779 2279 2279
5 .9485 .2279 .2089
6 9118 2153 2267
7 9691 .2279 .2279
8 9706 2271 2282
9 9118 .2259 2123
: 7353 .3676 3677
; .7353 .2941 .2057
5 7704 2274 2274
= 1.1029 2279 .2280
? 9853 .2279 .2280
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